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Note Title

-

Ellipse: plane oblique
to cone axis

Circle: plane perpendicular
to cone axis

Parabola: plane parallel
1o side of cone

Hyperbola: plane cuts
both halves of cone

(&)

v

Single line: plane Pair of intersecting lines

tangent to cone
(b)

Point: plane through
cone vertex only

Pm%ft

DEFINITIONS A set that consists of all the points in a plane equidistant from
a given fixed point and a given fixed line in the plane is a parabola. The fixed
~ point is the focus of the parabola. The fixed line is the directrix. -
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The vertex lies -
halfway between
directrix and focus. L
Directrix:y = =p | Q(x, p) \
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E [lipses

DEFINITIONS An ellipse is the set of points in a plane whose distances
from two fixed points in the plane have a constant sum. The two fixed points

are the foci of the ellipse.
The line through the foci of an ellipse is the ellipse’s focal axis. The point on

the axis halfway between the foci is the center. The points where the focal axis
and ellipse cross are the ellipse’s vertices (Figure 11.39).
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DEFINITIONS A hyperbola is the set of points in a plane whose distances
from two fixed points in the plane have a constant difference. The two fixed
points are the foci of the hyperbola.

The line through the foci of a hyperbola is the focal axis. The point on the
axis halfway between the foci is the hyperbola’s center. The points where the
focal axis and hyperbola cross are the vertices (Figure 11.42).
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